Όνομα:………………………………………………………………..    Στ΄ τάξη
1. Λύνω τις παραστάσεις : 

α) 5 • (11,5 - 3,5) =




  β) 10 + 3 • 18 – 4 =                                     

γ) 30 – 6 • 2 + 35 : 7 – 6 =       


δ) 20 + 5 • (16 – 7) =

ε) 6 • (5 + 4) + 2 • (19 – 15) – 3=
2. Με την παρακάτω αριθμητική παράσταση γράφω ένα δικό μου πρόβλημα 

    και το λύνω :

(1850 – 235) •3,5 = 
Πρόβλημα

_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________Λύση

Απάντηση : 

